% 9 i @ Prozente der Dezimalstellen berechnen

Name: Datum: Ergebnis:
3,37 x50% = 7,74 x 80% =
2,62 x 40% = 6,97 x 30% =
0,02 x 70% = 4,45 x 30% =
2,16 x 10% = 1,17 x 30% =
2,83 x10% = 1,08 x 90% =
7,06 % 90% = 7% 30% =
6, 58 x 40% = 4,78 x 60% =
2,44 x 90% = 6,33 x 20% =
3,16 x90% = 0,94 x 60% =
0,72 x 90% = 5,11 x 40% =
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Prozente der Dezimalstellen berechnen

Name:

3,37 x50% = 1.685

2,62 x40% = 1.048

0,02 x70% = 0.014

2,16 x 10% = 0.216

2,83 x10% = 0.283

7,06 x 90% = 6.354

6, 58 x 40% = 2.632

2,44 x90% = 2.196

3,16 x90% = 2.844

0,72 x 90% = 0.648

Datum:

7,74 x 80% = 6.192

6,97 x 30% = 2.091

4,45 x 30% = 1.335

1, 17 x30% = 0.351

1,08 x90% = 0.972

7x30% = 2.1

4,78 x 60% = 2.868

6,33 x20% = 1.266

0,94 x 60% = 0.564

5, 11 x40% = 2.044

www.snowmath.com

Ergebnis:
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